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R#ETFAN XFHX EEX -+ OAR 01

X R+ BEMBLTET. (S5, A1025%, B#k24, C#24340% )

(1) b=c

(3) bxb=xa

(5) (a—1)+(-10)

(7) 13xbxb+-a+a—+a

(9) axb—1lxa+y+=z

(2 (r—y)=3

4) l-z+z+2

6) —1xzx>a=b

(8) zx5+10+2x

(10) (x —y) x (x —y) + 3 —1200 x (x +y)
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2.

X R = BEAMLTET. (S5, A1 3258, B2, CH23408)

1) z+y

(3) bxb+-axb

(7) 1lxbxbxb+-a+a

9) arb-—1l+zryxz

(2) (a—1)=b

4 1l=zrz+z+2x

6) —1xxz=axb

(8) Txx—3=+zx

(10) (x—1)x (z—1)=2-500x (z+1) x (z+1)
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X R+ BEMBLTET. (S5, A1025%, B#k24, C#24340% )
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® S -HTO()BEETS. B (z+1)+(@—1)= gji

(1) b=ec (2 (r—y)=3
_b z—y
N 3

(3) bxb+a 4 1-z+z=+2
_ b _ 1
= ==

Yo U+ DML TRRC.

(5) (a—1)+(-10) (6) —1xz+a+b
_a—-1__a—-1 _ T _ _ T
-10 10 ab ab
(7) Bxbxbratata (8) x5+10+x
_ 13b® :5w+£
a3 €
9 axb—1l+z+y==z (10) (z—y) x (x —y) +3—1200 x (z +y)
1 a2
— ab — _(z—y)
a P _#—1200(334—1/)
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2.

X R = BEAMLTET. (S5, A1 3258, B2, CH23408)

1) z+y

(3) bxb=axb

b3

a

(7) 11 xbxbxb+-a+a

11568

a2

(9) a=-b—1lx2z+yxz

4 1sz+z+z+2x

¥ I~ ouEigd oI,

(6) —1xx+axb

_ —bx _ bz

a a

(8) Txx—3=x

:7;(:—i
x

(10) (x—1)x (z—1)+2-500x (x+1) x (z+1)
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